KENDRIYA VIDYALAYA SANGATHAN LUCKNOW REGION
HALF YEARLY EXAMINATION 2023-24

8T — Tﬂ'REﬂ’I’CLASS - XI SUBJECT: ECONOMICS
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Maximum Marks :80

General Instructions:
i) All questions in both (A and B) the sections are compulsory.
i) Marks for questions are indicated against each question.
iii) Questions No. 1-10 and 18-27 are very short-answer questions carrying 1 mark each.
iv) Case Based Questions(CBQ) are Question No. 24-27
v)Questions No. 11-12 and 28-29 are short-answer questions carrying 3 marks each.
Answer to these should normally not exceed 60-80 words each.
vi) Questions No. 13-15 and 30-32 are short-answer questions carrying 4 marks each.

Answer to these should normally not exceed 80-100 words each.
vii)Questions No. 16-17 and 33-34 are long-answer questions carrying 6 marks each.
Answer to these should normally not exceed 100-150 words each.
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Q.1 | Method /techniques used for collection, organisation, and presentation of data are
termed as
(a) sample techniques (b) statistical tools (c) averages (d)
graphs. . )
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Q2 |Class interval means?

A. Sum of upper or lower limits B. A range of values which
incorporates a set of items
C. Extreme values of a class are limits D. Difference between upper or
lower limits
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Q3

1. Read the following statements carefully: 1
Statement 1 — During elections news channels try to predict result by
exit poll.

Statement 2 — Exit poll is a popular example of random sampling.
In the light of the given statements, choose the correct alternative
from the following:

A. Statement 1 is true and statement 2 is false. B. Statement 1 is

false and statement 2 is true.

C. Both statements 1 and 2 are true . D. Both statements 1

and 2 are false.
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Q4

Read the following statements- 1
) Diagrams simplify data. Il) Diagrams are

useful in making comparison.

[II) Bar diagram is a two dimensional diagram. V) Histogram is

helpful in finding median.
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Which of above are correct?
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Q5

Schedules are deals with
A) Investigator B) Enumerator C) Respondent D) Costlier
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Assertion (A): Classification is the process of arranging data into sequence and

e groups.
Reason (R): Data are classified according to their common characteristics for
separating them into different but related parts.
Alternatives:
(a) Both Assertion and Reason are true and Reason is the correct explanation of
Assertion.
(b) Both Assertion and Reason are true and Reason is not the correct explanation
of Assertion.
(c) Assertion is true but Reason is false
(d) Assertion is false but Reason is true
e (T): FITehIUT ST oY 3ieTshel IR FHET H AU it T FfshaT |
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Q7 |The other name of pie diagram is
A) Circular Diagram B) Bar Diagram C) Histogram
D)Polygon
ATH &
tr)aamr\rm o) IR 3IRE ) feweama SnEgersT
Qs The following series show marks in economics of 11 students of class xii find the
median marks. . . o .
fAFAT T Al SREdl Hall & 11 SET & YR H 3ieh @I &, AT 37eh AT
EAE I
17, 32, 35, 33, 15, 23, 41, 32, 11, 10, 20
Q9 In case of Ogive ,the cumulative total tends to increase.
AT & AT, T ol A ge o AN 2|
Q10 Micro Economics studies the behaviour of unit.
a) An Individual Economic c) Both Aand B
b) As a whole d) None
& AT mé%wwmwmgl
) U SAfadeTd AMad an T AR & gt
&) AT R 31 @IS a%‘r
Q11 | Define statistics as a singular noun and as a plural noun.

Thadel UF SEadel & §T H HITEAHT T IR hifre]
OR (37Ydn)
Explain any three limitations of Statistics.
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Q12

Look at picture below and answer the questions: sir f&T 1T T @l ¢4 3R I 7
gaAt oh 3T GIioTd:

. What does the above picture show?
Which picture does show organised data?
Which data do you like and why?
IR U I =T 7 ¥ gy s g2
e T # cgaffyrd 3erst o fe@mar s g2
HTI! Shled & HThS THG § U FAT?
Or
What are the mains sources of secondary data. ~ fdciigeh SeT & HTT TId FATE?
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Q13

Following are the data about the market share of four brands of Air conditioners
sets sold in sitapur. Present a data by a pie diagram. HIdTIX & s 31T T
%ﬁ%ﬁ@t%ﬂﬁ@ﬁm%@aﬂ%mﬁmﬁmﬁ@a%l q1$ 3IRY

GaRT ST J&dd |

Brand of sets 9¢ &1 s Unit sold in Sitapur Jfaie farehT
AR A

Samsung 480
Daikin 360
Lloyd 240
Voltas 120

OR
Explain the various parts of a table.

Ueh RO & TAfHeaT A9 T Sool HITAT |

Q14

The following table shows marks secured by the students of a class in an .
examination in English. &1l @ drferepr 3arsit & Teh G&TT H Ueh el & Sl
GaRT JTCd 37ehT T G2MTdT &

MARKS 0-10 |10-20 [20-30 ([30-40 |40-50

NO OF STUDENTS |20 24 40 36 20
Calculate mean marks using Assumed Mean Method.

3TeTATTocT ATEY TATEr T 3UGNAT hleh HATEY 3{ehl chl IOTEAT Y




The following table gives distribution of marks secured by some students:

Q15 . Ao
TAFATATET ATfelehT e BTAT GaRT 1o 3{ehi T [T Sl &
Marks 10-20 (20-30 |30-40 (40-50 |50-60 |[60-70 |70-80
Numbers of 42 38 120 84 48 36 31
students
Calculate the median marks secured by the students. ST31 GaIRT ITCd AT JhT
IOTAT Y |
Q16 Draw the frequency polygon with histogram from the following data:
fAFATI T 3MTehst T TETIdT § RECTIH gaRT 3T TgeTeT T T HITTT :
Class intervalaer | 0-1| 10- | 30- | 40- | 60- 70-
AT 0|30 |40 | 60 | 70 | 80
Frequency3iigid | 30 [ 40 | 60 | 100 | 70 | 40
Q17 Calculate mode from the following data by (Grouping Method)..

AT @Il &1 Sgoteh FHIROT fAfer garT AATd Shifart]

ddMled¥ Class Interval 0- 8-1 10-1 15-2 |120-2 |25-3 |30-3
8 6 S 0 S 0 S

319Td Frequency 1 2 10 4 10 9 2

or

(a) Differentiate census and sampling methods.

STAUTAT TS vd wfdeel fafer & sray AfSw

(b)What do you mean by statistical errors? Explain sampling and non-sampling
errors.

qQIfEgh Ffedt & 39 F31 FAA & ? Yideel Ud IR gides Jieat i a@sse |

MICRO ECONOMICS (SECTION B)  §&# 31 (313797 )

Q18

Suppose, Mayank consumes Burger and Garlic Bread. Which of the following
bundle of Burger and garlic Bread will Mayank choose if he has monotonic
preference?

(a) Bundle A (5, 7) (b) Bundle B (4, 7) (c) Bundle C (5, 6) (d)
None of these

AT AT, HIh FIN 3R @Y 51 TNl ¢ | Al AIeh hl Aelelfoleh THe & dl 98
79 3R TeHA 95 & | HleT AT S5l TAM?
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Q19

When the % change in demand equals the % change in price, the price elasticity of
demand in absolute terms is :
a. Zero (0)
a. One (1)
b. Infinity ()
c. -1

STSTATITH Ficerd IRacls Hed H TR TRace & sRIa g1 Al el &l Hod ol grafr

a. g

a. Ush

b. 31
D -1

Q20

The basis of law of demand is :
a. Keynesian psychological law of consumption
a. Law of supply
b. Law of diminishing marginal utility
c. Law of variable proportions
HART & ST 1 3TUR §
a. T BT 3T FT FAAId AT AT
a. qid &l foas
b. Tedr &8 diATa 3TANTNAT F7 EH
c. IRadeT 3e7aTe 1 I

Q21

which of the shaded area in the diagram represents Total Utility.

m:ﬁraﬁam ITifehd a%‘argm maﬁaﬁﬁmﬁ
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Units Consumed Units Consumed Units Consumed Units Consumed

(a) (b) Ric) (d)

Q22

Read the following statements carefully and choose the correct alternative from the
following: Statement 1: Substitute goods have competitive demand.

Statement 2: Change in the price of substitutes directly affects the demand for a
given commaodity.

Alternatives:

(a) Both the statements are true.

(b) Both the statements are false.

(c) Statement 1 is true and Statement 2 is false.

(d) Statement 2 is true and Statement 1 is false.
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Q23
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Due to MAKE IN INDIA there has been a large inflow of of foreign capital . it will
lead to the following change in the PPC.
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Q24

Read the following statements: Assertion (A) and Reason (R). Choose one of the
correct alternatives given below:
Assertion (A): Tools of microeconomics are demand and supply.

Reason (R): Microeconomics studies the behaviour of individual units of an
economy.
Alternatives:

(A) Both Assertion (A)and Reason (R)are True and Reason (R)isthe correct
explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are True and Reason (R) is not the correct
explanation of Assertion (A).

(C) Assertion (A) is True but Reason (R) is False.

(D) Assertion (A) is False but Reason (R) is True
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Q25

What is the production possibility frontier? When it shift to right, Explain with the

help of diagram
At the point of intersection of two straight line demand curves, the flatter curve has

a. Greater elasticity
a. Lesser elasticity
b. Equal elasticity
c. Zero elasticity
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Given other factors constant, as price of a commodity increases, the quantity

Q26 demanded of the commodity
a. Decreases
a. Increases
b. Remain constant
c. None of the above
31 PR & (U A W, I Teh T& I Hod §61 & e 3 a&] 1 AN 75
HATMET......
a. 9l g
a. gcdrg
b. R g
C. AN TPSAG T
Q27 | The Indian Government imposed heavy taxes on commodity to reduce its
consumption by the public. Such heavy taxes will decrease the demand of the
commodity only when: TR TR o STeTclT SIRT ITHIIT T FH Flel & I a3
I R S FRTRAT| U TR T T T ATeT it ereelt S
(a) Ed=0 (c) Ed<1 (b) Ed>1 (d) Ed=1
Q28 What is the production possibility frontier? When it shift to right, Explain with the
help of diagram
OR
Raw a production possibility curve and mark the following situations.
a. Underutilization of resources
b. Full employment of resources
c. Growth of resources
3caTCsT THTIAT HIHAT FIAT g2 ST Tg Glfgalr 3R fA%e g1 ST df == hr agraar &
AT
3HYar
Teh 3cUTGe TGS dsh 9110 3R e Toriad fufaar & ”ifgad i
Teh | TTAT T hel 3TINT
T | TATEr=T @7 guT AR
Y| AT o
Q29 A lot of people have died and many factories and agricultural crops are destroyed
because of Isreal-Palistine war. How will it affect the production possibility frontier
of Palistine ? Use diagram.

SHTSH-ThTorEcial Jetr & HNOUT Tgd AR olleT AR IV § HR S HREM iR Y Hael
avdg’r:ﬂé%l SH! horedel 3T ScdTgsT THTGAT HIAT O 4T THIG T=amm? 7 &7
g9 HITAT |

Or 3Yar
Explain the central problem “how to produce.”
Uoh FolT HAEAT “hdl ¢TI Y’ I SITEIAT FIfAT |
Q30 The market demand for a good at 4 per unit is 100 units. Due to increase in price,

the market demand falls to 75 units. Find out the new price, if the price elasticity of
demandis (-) 1.

4 9 JAE I Ueh g I TSR AT 100 A &1 AT oo F SR H HIT Tl
75 gfere 1@ IS . A AT B Prerd o (-) 7 8, o 1S P et HY |




Q31

Complete Tp and Mp

Variable factor 1 2 3 4 5

AP in units 50 45 40 35 30

Q32

Read the following article and answer Questions on the basis of the same:
Traditional economic theory has developed among two lines;viz., normative and
positive. Normative focuses on prescriptive statements, and help establish rules
aimed at attaining the specified goals of business. Positive, on the other hand
focuses on description it aims at describing the manner in which the economic
system operates without staffing how they should operate.

The emphasis in business economics is on normative theory. Business economic
seeks to establish rules which help business firms attain their goals which indeed
is also the essence of the word normative, However, if the firms are to establish
valid decisions rules they must thoroughly understand their environment. This
requires the study of positive or descriptive theory. Thus, Business economic
combines the essentials of the normative and positive economic theory, the
emphasis being more on the former than the later.

A . what is difference between positive and normative economics.

B. How the economics problems should be solved is part of

AN +DN
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Q33

Suppose a consumer Rita whose budget is RS 500, wants to consume only two
goods, Good X and Good Y. The goods are respectively priced at RS 50 and RS
25. Answer the following questions on the basis of the given information:
(a) State the budget equation of the consumer
( b) What is the slope of the budget line?
(c) How many units can she purchase if she spends the entire RS 500 on Good X?
(d) How many units can she purchase if she spends the entire good RS 500 on
Good Y, given that the price of good Y has doubled.
Hint: (a) 50(Qx) + 25(Qy) = 500; (b) -2; (¢) 10 units of Good X; (d) 10 units of Good
Y.
AT NTAT o Tk 3T [FTeRT doic 500 §, 98 Hdd &I ATAT, I8 Ty 3 IS
aTE ST STHT T TTEaT & | FTHTT T FIAT FHAT: 50 3R 25 T & 318 AT &
3R W fArAfaf@d weal & 3R &
(T) 3UHIFAT ST Tolc HIHIUT §dT0
(SY) SoTC QT FT GolleT FAT 572
ﬁr)aﬁa‘e"mmwﬁmo T AT & g Tohael sehrsar @iie Heahdh 272

&1) I 98 G TE TS T e QAT AR AT & oY I Febelell TSl @lig Fehell £7
:n-s' Y 9% 500, S FIAT & TS F
Hint: (a) 50(Qx) + 25(Qy) = 500; (b) -2; (c) 10 units of Good X; (d) 10 units of Good
Y.

Q34

Explain the law of variable proportion with help of a numerical example

HEITcHH 3eTeI0T T TRIAT & TR 79T o faH Y THASY




